

■2025年平均観客数順

	2025年				J1通算			J2通算			J3通算			J通算		
		試	観客数	平均	試	観客数	平均	試	観客数	平均	試	観客数	平均	試	観客数	平均
浦和	J1	13	459,243	35,326	546	16,632,276	30,462	20	338,457	16,923				566	16,970,733	29,984
FC東京	J1	13	416,377	32,029	415	9,962,869	24,007	37	396,643	10,720				452	10,359,512	22,919
名古屋	J1	12	370,380	30,865	543	9,890,767	18,215	21	322,672	15,365				564	10,213,439	18,109
G大阪	J1	12	356,837	29,736	543	8,853,941	16,306	21	257,996	12,286				564	9,111,937	16,156
鹿島	J1	13	336,711	25,901	561	9,981,948	17,793							561	9,981,948	17,793
広島	J1	12	305,614	25,468	528	7,026,340	13,307	43	425,635	9,898				571	7,451,975	13,051
横浜FM	J1	13	303,267	23,328	561	11,904,240	21,220							561	11,904,240	21,220
新潟	J1	12	268,202	22,350	284	8,127,723	28,619	209	2,935,078	14,043				493	11,062,801	22,440
川崎F	J1	13	283,881	21,837	372	6,477,374	17,412	106	656,741	6,196				478	7,134,115	14,925
神戸	J1	12	255,665	21,305	445	6,253,733	14,053	45	407,675	9,059				490	6,661,408	13,595
東京V	J1	13	274,905	21,147	270	4,648,638	17,217	363	2,015,311	5,552				633	6,663,949	10,528
清水	J1	12	235,758	19,647	507	7,509,358	14,811	61	876,250	14,365				568	8,385,608	14,763
C大阪	J1	13	235,650	18,127	421	6,019,511	14,298	134	1,322,991	9,873				555	7,342,502	13,230
千葉	J2	12	185,835	15,486	289	3,451,385	11,943	320	2,885,060	9,016				609	6,336,445	10,405
長崎	J2	13	196,880	15,145	17	190,827	11,225	242	1,549,368	6,402				259	1,740,195	6,719
札幌	J2	11	164,667	14,970	221	3,225,520	14,595	310	3,511,348	11,327				531	6,736,868	12,687
岡山	J1	13	188,679	14,514	13	188,679	14,514	333	2,562,947	7,697				346	2,751,626	7,953
京都	J1	11	158,350	14,395	240	2,569,073	10,704	319	2,078,890	6,517				559	4,647,963	8,315
町田	J1	12	158,209	13,184	31	492,794	15,897	189	776,778	4,110	38	131,716	3,466	258	1,401,288	5,431
柏	J1	12	151,300	12,608	469	5,205,211	11,099	63	544,525	8,643				532	5,749,736	10,808
磐田	J2	13	162,217	12,478	443	6,414,324	14,479	118	972,998	8,246				561	7,387,322	13,168
仙台	J2	12	147,135	12,261	236	3,478,630	14,740	272	3,483,755	12,808				508	6,962,385	13,705
山形	J2	11	126,956	11,541	68	733,067	10,780	478	2,847,639	5,957				546	3,580,706	6,558
大宮	J2	13	145,762	11,212	204	2,222,976	10,897	286	1,697,936	5,937	19	141,974	7,472	509	4,062,886	7,982
湘南	J1	12	131,425	10,952	314	3,457,701	11,012	307	1,811,014	5,899				621	5,268,715	8,484
大分	J2	13	134,490	10,345	185	3,043,770	16,453	298	2,498,302	8,384	15	116,563	7,771	498	5,658,635	11,363
横浜FC	J1	14	139,779	9,984	84	679,853	8,093	426	2,233,737	5,244				510	2,913,590	5,713
福岡	J1	13	120,339	9,257	229	2,363,338	10,320	344	2,667,254	7,754				573	5,030,592	8,779
松本	J3	11	94,485	8,590	34	582,071	17,120	168	1,732,395	10,312	66	554,038	8,395	268	2,868,504	10,703
鳥栖	J2	13	106,983	8,229	225	2,581,136	11,472	293	1,625,402	5,547				518	4,206,538	8,121
甲府	J2	12	97,500	8,125	136	1,628,772	11,976	390	2,583,526	6,624				526	4,212,298	8,008
徳島	J2	12	81,311	6,776	36	258,031	7,168	395	1,809,379	4,581				431	2,067,410	4,797
鹿児島	J3	11	62,420	5,675				40	246,817	6,170	125	520,893	4,167	165	767,710	4,653
熊本	J2	13	73,231	5,633				304	1,837,496	6,044	48	169,959	3,541	352	2,007,455	5,703
栃木SC	J3	11	59,611	5,419				291	1,385,218	4,760	42	215,719	5,136	333	1,600,937	4,808
富山	J2	12	63,916	5,326				137	553,346	4,039	170	501,906	2,952	307	1,055,252	3,437
金沢	J3	9	46,847	5,205				189	740,647	3,919	46	212,023	4,609	235	952,670	4,054
山口	J2	13	67,602	5,200				200	961,750	4,809	20	87,348	4,367	220	1,049,098	4,769
藤枝	J2	13	61,688	4,745				53	208,946	3,942	149	200,585	1,346	202	409,531	2,027
今治	J2	14	65,267	4,662				14	65,267	4,662	86	228,166	2,653	100	293,433	2,934
北九州	J3	11	51,022	4,638				184	638,154	3,468	115	543,934	4,730	299	1,182,088	3,953
水戸	J2	13	59,220	4,555				545	1,963,997	3,604				545	1,963,997	3,604
秋田	J2	12	54,617	4,551				94	290,939	3,095	118	211,386	1,791	212	502,325	2,369
岐阜	J3	11	49,722	4,520				251	1,343,118	5,351	97	393,951	4,061	348	1,737,069	4,992
長野	J3	10	43,974	4,397							198	733,741	3,706	198	733,741	3,706
愛媛	J2	12	52,695	4,391				373	1,342,221	3,598	36	119,752	3,326	409	1,461,973	3,575
いわき	J2	13	55,341	4,257				53	210,163	3,965	17	36,960	2,174	70	247,123	3,530
栃木C	J3	11	32,537	2,958							11	32,537	2,958	11	32,537	2,958
群馬	J3	12	35,476	2,956				383	1,403,616	3,665	45	150,105	3,336	428	1,553,721	3,630
沼津	J3	12	35,458	2,955							147	324,004	2,204	147	324,004	2,204
FC大阪	J3	12	32,778	2,732							50	131,156	2,623	50	131,156	2,623
琉球	J3	11	28,331	2,576				84	203,315	2,420	133	301,119	2,264	217	504,434	2,325
相模原	J3	11	27,631	2,512				21	49,802	2,372	184	520,400	2,828	205	570,202	2,781
宮崎	J3	11	26,348	2,395							80	115,274	1,441	80	115,274	1,441
高知	J3	11	25,016	2,274							11	25,016	2,274	11	25,016	2,274
鳥取	J3	10	21,974	2,197				61	221,971	3,639	198	399,247	2,016	259	621,218	2,399
讃岐	J3	11	23,181	2,107				105	368,341	3,508	114	201,407	1,767	219	569,748	2,602
福島	J3	10	20,353	2,035							197	268,507	1,363	197	268,507	1,363
八戸	J3	12	23,137	1,928							115	174,595	1,518	115	174,595	1,518
奈良	J3	12	22,599	1,883							50	92,132	1,843	50	92,132	1,843
横浜F					114	1,756,547	15,408							114	1,756,547	15,408
岩手								21	36,724	1,749	171	211,492	1,237	192	248,216	1,293
YS横浜											187	207,252	1,108	187	207,252	1,108
F東23											64	122,128	1,908	64	122,128	1,908
G大23											81	109,340	1,350	81	109,340	1,350
C大23											81	84,506	1,043	81	84,506	1,043

■J通算総観客数順

	2025年				J1通算			J2通算			J3通算			J通算		
		試	観客数	平均	試	観客数	平均	試	観客数	平均	試	観客数	平均	試	観客数	平均
浦和	J1	13	459,243	35,326	546	16,632,276	30,462	20	338,457	16,923				566	16,970,733	29,984
横浜FM	J1	13	303,267	23,328	561	11,904,240	21,220							561	11,904,240	21,220
新潟	J1	12	268,202	22,350	284	8,127,723	28,619	209	2,935,078	14,043				493	11,062,801	22,440
FC東京	J1	13	416,377	32,029	415	9,962,869	24,007	37	396,643	10,720				452	10,359,512	22,919
名古屋	J1	12	370,380	30,865	543	9,890,767	18,215	21	322,672	15,365				564	10,213,439	18,109
鹿島	J1	13	336,711	25,901	561	9,981,948	17,793							561	9,981,948	17,793
G大阪	J1	12	356,837	29,736	543	8,853,941	16,306	21	257,996	12,286				564	9,111,937	16,156
清水	J1	12	235,758	19,647	507	7,509,358	14,811	61	876,250	14,365				568	8,385,608	14,763
広島	J1	12	305,614	25,468	528	7,026,340	13,307	43	425,635	9,898				571	7,451,975	13,051
磐田	J2	13	162,217	12,478	443	6,414,324	14,479	118	972,998	8,246				561	7,387,322	13,168
C大阪	J1	13	235,650	18,127	421	6,019,511	14,298	134	1,322,991	9,873				555	7,342,502	13,230
川崎F	J1	13	283,881	21,837	372	6,477,374	17,412	106	656,741	6,196				478	7,134,115	14,925
仙台	J2	12	147,135	12,261	236	3,478,630	14,740	272	3,483,755	12,808				508	6,962,385	13,705
札幌	J2	11	164,667	14,970	221	3,225,520	14,595	310	3,511,348	11,327				531	6,736,868	12,687
東京V	J1	13	274,905	21,147	270	4,648,638	17,217	363	2,015,311	5,552				633	6,663,949	10,528
神戸	J1	12	255,665	21,305	445	6,253,733	14,053	45	407,675	9,059				490	6,661,408	13,595
千葉	J2	12	185,835	15,486	289	3,451,385	11,943	320	2,885,060	9,016				609	6,336,445	10,405
柏	J1	12	151,300	12,608	469	5,205,211	11,099	63	544,525	8,643				532	5,749,736	10,808
大分	J2	13	134,490	10,345	185	3,043,770	16,453	298	2,498,302	8,384	15	116,563	7,771	498	5,658,635	11,363
湘南	J1	12	131,425	10,952	314	3,457,701	11,012	307	1,811,014	5,899				621	5,268,715	8,484
福岡	J1	13	120,339	9,257	229	2,363,338	10,320	344	2,667,254	7,754				573	5,030,592	8,779
京都	J1	11	158,350	14,395	240	2,569,073	10,704	319	2,078,890	6,517				559	4,647,963	8,315
甲府	J2	12	97,500	8,125	136	1,628,772	11,976	390	2,583,526	6,624				526	4,212,298	8,008
鳥栖	J2	13	106,983	8,229	225	2,581,136	11,472	293	1,625,402	5,547				518	4,206,538	8,121
大宮	J2	13	145,762	11,212	204	2,222,976	10,897	286	1,697,936	5,937	19	141,974	7,472	509	4,062,886	7,982
山形	J2	11	126,956	11,541	68	733,067	10,780	478	2,847,639	5,957				546	3,580,706	6,558
横浜FC	J1	14	139,779	9,984	84	679,853	8,093	426	2,233,737	5,244				510	2,913,590	5,713
松本	J3	11	94,485	8,590	34	582,071	17,120	168	1,732,395	10,312	66	554,038	8,395	268	2,868,504	10,703
岡山	J1	13	188,679	14,514	13	188,679	14,514	333	2,562,947	7,697				346	2,751,626	7,953
徳島	J2	12	81,311	6,776	36	258,031	7,168	395	1,809,379	4,581				431	2,067,410	4,797
熊本	J2	13	73,231	5,633				304	1,837,496	6,044	48	169,959	3,541	352	2,007,455	5,703
水戸	J2	13	59,220	4,555				545	1,963,997	3,604				545	1,963,997	3,604
横浜F					114	1,756,547	15,408							114	1,756,547	15,408
長崎	J2	13	196,880	15,145	17	190,827	11,225	242	1,549,368	6,402				259	1,740,195	6,719
岐阜	J3	11	49,722	4,520				251	1,343,118	5,351	97	393,951	4,061	348	1,737,069	4,992
栃木SC	J3	11	59,611	5,419				291	1,385,218	4,760	42	215,719	5,136	333	1,600,937	4,808
群馬	J3	12	35,476	2,956				383	1,403,616	3,665	45	150,105	3,336	428	1,553,721	3,630
愛媛	J2	12	52,695	4,391				373	1,342,221	3,598	36	119,752	3,326	409	1,461,973	3,575
町田	J1	12	158,209	13,184	31	492,794	15,897	189	776,778	4,110	38	131,716	3,466	258	1,401,288	5,431
北九州	J3	11	51,022	4,638				184	638,154	3,468	115	543,934	4,730	299	1,182,088	3,953
富山	J2	12	63,916	5,326				137	553,346	4,039	170	501,906	2,952	307	1,055,252	3,437
山口	J2	13	67,602	5,200				200	961,750	4,809	20	87,348	4,367	220	1,049,098	4,769
金沢	J3	9	46,847	5,205				189	740,647	3,919	46	212,023	4,609	235	952,670	4,054
鹿児島	J3	11	62,420	5,675				40	246,817	6,170	125	520,893	4,167	165	767,710	4,653
長野	J3	10	43,974	4,397							198	733,741	3,706	198	733,741	3,706
鳥取	J3	10	21,974	2,197				61	221,971	3,639	198	399,247	2,016	259	621,218	2,399
相模原	J3	11	27,631	2,512				21	49,802	2,372	184	520,400	2,828	205	570,202	2,781
讃岐	J3	11	23,181	2,107				105	368,341	3,508	114	201,407	1,767	219	569,748	2,602
琉球	J3	11	28,331	2,576				84	203,315	2,420	133	301,119	2,264	217	504,434	2,325
秋田	J2	12	54,617	4,551				94	290,939	3,095	118	211,386	1,791	212	502,325	2,369
藤枝	J2	13	61,688	4,745				53	208,946	3,942	149	200,585	1,346	202	409,531	2,027
沼津	J3	12	35,458	2,955							147	324,004	2,204	147	324,004	2,204
今治	J2	14	65,267	4,662				14	65,267	4,662	86	228,166	2,653	100	293,433	2,934
福島	J3	10	20,353	2,035							197	268,507	1,363	197	268,507	1,363
岩手								21	36,724	1,749	171	211,492	1,237	192	248,216	1,293
いわき	J2	13	55,341	4,257				53	210,163	3,965	17	36,960	2,174	70	247,123	3,530
YS横浜											187	207,252	1,108	187	207,252	1,108
八戸	J3	12	23,137	1,928							115	174,595	1,518	115	174,595	1,518
FC大阪	J3	12	32,778	2,732							50	131,156	2,623	50	131,156	2,623
F東23											64	122,128	1,908	64	122,128	1,908
宮崎	J3	11	26,348	2,395							80	115,274	1,441	80	115,274	1,441
G大23											81	109,340	1,350	81	109,340	1,350
奈良	J3	12	22,599	1,883							50	92,132	1,843	50	92,132	1,843
C大23											81	84,506	1,043	81	84,506	1,043
栃木C	J3	11	32,537	2,958							11	32,537	2,958	11	32,537	2,958
高知	J3	11	25,016	2,274							11	25,016	2,274	11	25,016	2,274



